ESEFHFET X —10Fy XX RN L—HR—ILX=

2023%9A3H (H)

[ZIRIMNERBEERIE]

RB—F AV
?m"mm"mm"mm"mm"mm"mm] """""""""""""""""""""""""""""""" HEE F—Lf F—Lf
21 - 7
D5 D1 FlilvBC 21 - 130 FEARvBC
D 4 E 4 18 - 21
E1 | 88FbVBC 21 - 13| 1| BHHAEEVBC
FJIVBC H#HHEVBC HARVBC BHETBVBC S
_____________________________________________________________________________________________________________ D2 | #AVBC 13 - 21| 1| #M@vVBC
21 - 11
E2 | HHPEVBC 21 - 10| 0| 3RVBCBF
Fiivec BEHTHVBC P
D3 |  FIIVBC 21 - 12/ 1| #&EVBC
FE—T 21 - 14
D E E3 | 8&8FbVBC 21 - 17| 0| 3RVBCBF
EARVBC #&Fm@EvBC BEHTIEVBC *VBCBF
- _ =) BEtyb BER
B2 ) T—L% @ mlE[s] = (@la] = (&% =
1 FEIlVBC 2/10[(0]1.00 |3[1]0.75 |81[53] 0.60
_____________________________________ Dl 2 £KRvBC 1/1/0[050 |1]3]0.25 |54/73] 0.43
§ 3 #ZEHVBC 0/210/000 |2]2]|050 |64]/73]| 047
35 B : 1 BHFESVBC | 2[0]/0[100 [3]1]0.75 [81]|65] 0.55
Ll : El_2 EfxdmEvBe [1|1/o|o50 [3|1]075 [76/60] 0.56
; 3 ¥VBCEF 0/2[0/000 |0]4]000 |52/84] 0.38
| § BAE 7 L% F_LA%
5 10 _-..21
E5 § D4 FivBc 11 - 21| 2| BHFHPEEVBC
20 - 22
= * § E4 FARvBC 15 - 21| 2| BBEBVBC
\V/ :
3 B § 21 -9,
B c 5 D5 | B&MIEVBC 21 _-_13| 0| BHBELVBC
8 :
c F | 3.-.2
§ E5 &EHVBC 6 - 21| 2| HVBCEF
mIgRLIR
B B SHPEEVBC | EEMKX |XEMBRE| HHFLVBC | L+H=#X|FE 34 FIIVBC HEMX
B3] #£AVBC |hAEEHK




